
66. Diminution of the above Jean-Baptiste Bésard
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2) "k" in orig
1) 7th course in orig.








  

  

30




     




    

 




     






     






 
  

















  





  



 








 


35





   



  






 

  

 



      






      



     

40



     
 









 
  












  


   



 





  

  


45



 

 



 





  


  






  





 






  




  













50




       




 

    



       





    










 

   

55




   




   



    















 

    





    



60







    










  

   



 
 


  





 


   




  

 


65




     






  

 






  
  









     








  










 

70 











-2-


